
Physics 102.fi
Quiz#l

Chapter 17

Instructor: Dr. A. Mekki

l. A pipe 0.60 m long and closed at one end is filled with an unknown gas. The third harmonic frequency for

the pipe is 750 Hz.
(a) What is the speed of sound in the unknown gas?
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(b) What is the fundamental frequency for this pipe when it is filled with this gas?
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2. Two sound levels differ by 30 dB. What is the ratio of their intensities?
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l. Two sound waves, from two different sources, 51 and 52, with the same frequency travel in the same

direction. The distance between the two sources is )"12.

Is the sound intensity maximum or minimum at points Pr and Pz? Explain'
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2. The source of sound wave has a power of 1.0 pW. If it is a point source,

(a) what is the intensity 3.0 m from the source?
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(b) What is the sound level in decibels at that distance
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1 . The pressure wave of a sound wave is given by: AP (x ,t) = (2.5Pa) sin(5x - 3000r ) , where x is in meter

and t in second. Find the displacement wave that corresponds to this pressure wave. The density of the
medium is 1000 ks/m'.
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2. While receding an ambulance, you hear a frequency of the siren at 74I Hz. The ambulance driver hears a
frequency of 797 Hz. What is the speed of your car? Take the speed of sound:340 m/s.
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